SOZK %

Y -ACCESSORIES AI.ISTRALM
e Oz n

User's Manual of Electtic
RetractableTonneau Cover

** please scan the QR code to download the APP
** Initialpassword: 888888
** please change the password after login!



Accessories List

R —

YTO04:Positioning Aluminum Bar

YT05:0Drain Tube YT06:Foaming Adhesive Tape

¥YT07:Bolt MBX40 Bolt MBX50 Bcrew washer YT08:Rubber Cover of Track Front End




Accessories List

YT09:Rubber Washer of Drain Tube
YT10:Hose Clamps

¥YT12:Clamp Bracket

¥T15:Track Mounting Kit M6*12 screw
S5=5 Allen Wrench

T
zeeee

YT17:T-shape boit M6*20 M6 hexagon

nut with fiange

2 A:Turn on LED Light
> B:Turn off LED Light
C:Open Tonneau Cover

> D:Close Tonnwau Cover

Indicater light of
remots controller

¥T11:Remote Controller 2pcs

¥T13:Lubricant(for rust-proof and noise-reducing)
YT14:Nylon cable ties

0000000000
00 0000
Y990 000

)

¥T16:Top Cover Mounting Kit Hex Flat Screw 5*6

M5 Rubber Washer M5 Rubber Screw Cap
S=3 Allen Wrench

SIS

00000000

YT18:Bracket Mounting Kit A13:5.5*32 Screw

with washer Self-tapping screw+M6 Flat Washer




NOTICE

Horizontal direction

Installation in horizontal to

Put In Horizontal avoid issue




Installation

Install the YT08 Rubber Cover of Track Front

Check if the side bars and the frint middle
End here

bar are gorizontal before installing

Using YT16-Top Cover Mounting Kit to install
YTO3 Top Cover and apply waterproof glue
on both sides.The length of waterproof glue
shall be no less than 140mm

Using YT15-Track Mounting Kit to install
YTO02 Track on YTO1 casing, and fasten the

Using YT17-Clamp Bracket Mounting Kit to

Placed the assembled parts in the bed install the Track. .
Insert the sliding nut M6 into the track and

this will require 2 people)
¢ d HESREY install with M6*25 screw




Installation

Place the assembled sliding nut kit on the
track and slide to proper place

After positioning well,then use M6 Flat
Washer and M6 nut to fasten it.

Adjust the horizontal level through this
screw and bracket

Adjust the Track to the center position with
aluminum bar

Adiust the horizontal level through this screw
and bra cket

Installone end of the drain tube on the Track
with Hose Clamps, and route the other end of
the draain tubes out from the holes.




Controller Installation Instruction

The wiring route of power cable is as below in red color

Routing Notes:
1.Recommend wiring routing sequence: engine comparpaetment—wheel trims—truck bed
2.Most behicles already have holes on truck bed, please route the cables through

theexisting holes in to the truck bed. Fpr vehicles without the holes, suggest drilling
a 20mm diameter hole.

3.Please make sure to avoid engine housing, exhaust pipe and other hot parts while
wiring routing.
Clutch Instruction

1. Dismantle the 2pcs screws and fixing plate
in following picture with S=5 hex wrench.

< e S 1 =
: (72 :.',J . //
X — =
| : o
| 2. Use a screwdrover to rotate the middle cross slot //,f_f‘g’
| : Lo — e
| 2.1. Rotate counterclockwise until the axis is in parallel with T > ,.b-;_;“-
| the black bracket, then the gear device shall be separated, thus E_E(F .
| itching to mode to lly open/close the T Cover. S

| 2.2, Rotate back clockwise until the rotation axis can't turn, then use remote controller to close
the Tonneau Cover. During closing process,rotate clockwis again until the rotation axis is in paralle! with the
black bracket, then install back the fixing plate. Thus switching to normal electric mode.



Remote Instruction

A:Turn on LED Light
B:Turn off LED Light
C:Open Tonneau Cover

D:Close Tonneau Cover

Indicator light of
remote controller

1.Indicator light of remote controller:When any one of the buttons is pressed ,
the signal indicator lights up.

2.Protection Cover:Please push the protection cover up when not using
in case of any mis-operation.

Instrution of buttons:

Buttons Name Description
O II‘:;’,:"“" g Press the button to turn off the LED Light.
-
1.Press the button to turn on the LED Light if the light is off , and
Turn on LED | brightness restored to its previous brightness.
Light 2.Press the button to the next level brightness id the light is on

(3 level brightness cyc;e switch)

Close Tonneau
Cover

1.Press the button to start closing the Tonneau Cover if it is in static mode.

2.Press the button to stop the Tonneau Cover if it is in operating mode.

Open Tonneau
Cover

1.Press the button to start opening the Tonneau Cover if it is in static mode.

2.Press the button to stop the Tonneau Cover if it is in operating mode.




Maintenance Hints

Every 6 months to clean and lubricate
the canister

Every 3 months to clean and lubricate
the track rubber strip

S

Keep the drainpipe free from blockage.

Please drill holes on the truck for installing
heavy loading equipment.

8



